
2 3 6 5 17 19 4 21 7 8 9 18 10 20 1 14 13 15 16 12 11

2
3
6
5
17
19
4

371715 
371714
N/A
371713
20072
20073
20074

Dust Cap, LH, 44 x 19.5/13.6 x 8 x 1
Cone Seal, 25.5 x 40 x 2.7  

Brake Cone
Brake Shoe
Spring Holder 
Clutch Spring

21
7
8
9

 

371731

 

Clutch Washer, 12.1 x 18.5 x 1

CP
Black

Silver
Silver
Silver
Silver
CP

18
10
20
1
14
13
15

371710 
371719
372145
20078
372147
371718
371717

Chromoly Axle, 3/8 x 24 x 160mm 
Inner Driver Seal, 32 x 40.23 x 4
Gen2 Driver (for 6-tab Sprocket)   
Ball Retainer, Small 
Gen2 Outer Driver Seal, 29.8 x 16 x 2
Cone, RH, 3/8 x 24, 17 x 11
Lock Nut, RH, 3/8 x 24, 17 x 7mm 

16
12
11

 

CP
Black
CP
Silver
Black
CP
CP
CP

WHEELMASTER HEAVY DUTY ALLOY COASTER BRAKE HUB

371721 
371722

19T 6-Tab Sprocket, 1/2 x 1/8 
21T 6-Tab Sprocket, 1/2 x 1/8

CP
CP

TRIM KIT COMPONENTS

P/N 
371711
371712
371716

DESCRIPTION 
Lock Nut, LH 3/8 x 24, 17 x 9mm
Lock Washer, LH 3/8 x 26 x 3.8
Brake Arm

COLOR
CP
CP
CP

P/N 
N/A
20076
20077

DESCRIPTION 

Clutch Cone
Ball Retainer, Large

COLOR

CP
CP

P/N 
371724
371725
371723

DESCRIPTION 
Lock Nut, 3/8 x 24
Lock Washer
Snap Ring

COLOR
CP
CP
CP

P/N
371726
371727
371728
371729

COLOR
Silver 
Silver
Black
Black

DESCRIPTION
36H x 14G x 110mm O.L.D. 
36H x 12G x 110mm O.L.D.
36H x 14G x 110mm O.L.D.
36H x 12G x 110mm O.L.D.

SPROCKET
W/Trim Kit 19t 
W/Trim Kit 19t
W/Trim Kit 19t
W/Trim Kit 19t

*13 - Added recessed groove to driver for improved outer seal retention  

*16 - Modi�ed outer driver seal to �t  recessed groove in driver


